

$$\log_n^m = a \quad \frac{\log m}{\log n} = a \quad \log^m = \log^n \times a$$

$$\log_{mn}^{m^n} = b \rightarrow \frac{r \log^m + \log^n}{\log^m + \log^n} \Rightarrow \frac{r(\log^n \times a) + \log^n}{(\log^n \times a) + \log^n} = \frac{\log^n(r a + 1)}{\log^n(a + 1)} = \frac{r a + 1}{a + 1}$$

$$\Rightarrow 1 + \frac{a}{a+1} = b \rightarrow [b] = \boxed{1}$$

کوتاه از ۱

۱

الف) $y = \sqrt{\frac{x}{\log \frac{x}{\frac{1}{r}}}} \rightarrow x > 0 \quad \frac{x}{\log \frac{x}{\frac{1}{r}}} > 0 \quad \frac{1}{-\phi +} \quad [1, +\infty)$

$\frac{1}{r} > 0 \quad \frac{1}{r} \neq 0$

ب) $y = \frac{\log_r(x^2 - x - 2)}{\sqrt{x^2 - 1} + 1} \rightarrow \begin{matrix} x^2 - x - 2 > 0 \\ r > 0, r \neq 1 \end{matrix} \quad \frac{-1 \pm 2}{\pm 1 - 1 +} \rightarrow (-\infty, -1) \cup (2, +\infty)$

$\hookrightarrow \sqrt{x^2 - 1} > 0 \quad x^2 > 1 \quad \begin{matrix} x > 1 \\ x < -1 \end{matrix} \quad \sqrt{x^2 - 1} + 1 \neq 0 \quad \sqrt{x^2 - 1} \neq -1 \quad \checkmark$

۲

$r \log_x^a + \log_{\frac{\sqrt{x}}{a}} = 2 \xrightarrow{x=9} r \log_{\frac{9}{r}}^a + \log_a^r = 2 \rightarrow \frac{r}{r} \log_r^a + \log_a^r = 2 \rightarrow$

$\log_r^a + \frac{1}{\log_r^a} = 2 \quad \frac{(\log_r^a)^2 + 1}{\log_r^a} = 2 \rightarrow (\log_r^a)^2 + 1 = 2 \log_r^a \xrightarrow{\log_r^a = t}$

$t^2 + 1 = 2t \quad t^2 - 2t + 1 = 0 \quad (t - 1)^2 = 0 \xrightarrow{t=1} \log_r^a = 1 \quad \boxed{a=r}$

۳

$\log 2 \approx 0,3 \quad \log 3 \approx 0,4$

$(\log \frac{\omega}{r}) x_1^2 + (\log 9) x_1 - \log 1 \omega = 0 \quad (\log \omega - \log 3) x_1^2 + (\log 3 + \log 3) x_1 - (\log \omega + \log 3) = 0$

$a + b + c = 0 \rightarrow x_1 = 1 \quad x_2 = \frac{c}{a} = \frac{-\log \omega - \log 3}{2 \log \omega - \log 3} \xrightarrow{0,4 < \log \omega < 1} \approx 0$

$|x_2 - x_1| = \boxed{1}$

۴

$\log_{\omega}^r = 0,1 \omega \rightarrow \frac{1}{\log_{\omega}^r} = 0,1 \omega \quad \log_r^{\omega} = \frac{1}{0,1 \omega} \quad r / \log_r^v = 2,1 \wedge$

$\log_{1/r}^{1/\omega} = \frac{\log_r^{1/\omega}}{\log_r^{1/r}} = \frac{\log_r^{\omega \times r}}{\log_r^{v \times r}} = \frac{\log_r^{\omega} + \log_r^r}{\log_r^v + \log_r^r} = \frac{r + 1}{r,1 \wedge + 1} = \frac{r}{r,1 \wedge} = 1,03$

۵

$$\log_{10}^4 = \frac{\log_{10}^4}{\log_{10}^4} = \frac{\log_{10}^4 + \log_{10}^4}{\log_{10}^4 + \log_{10}^4} \quad \log_{10}^4 = \frac{1}{\log_{10}^4} \rightarrow \frac{\frac{1}{1.4} + 1}{1 + 1.4} = \boxed{0.42}$$

6

$$\log_{\frac{1}{\lambda}}^1 = m \quad \log_{\frac{r}{r}}^{r \times r \times r} = m \quad \log_{\frac{r}{r}}^r + \log_{\frac{r}{r}}^r = r m \quad r \log_{\frac{r}{r}}^r = r m - 1 \quad \log_{\frac{r}{r}}^r = \frac{r m - 1}{r}$$

$$\log_{\frac{r}{r}}^r = \frac{1}{r} (\log_{\frac{r}{r}}^r + \log_{\frac{r}{r}}^r) = \frac{1}{r} (r + \frac{r m - 1}{r}) = \frac{r}{r} (m + 1)$$

7

$$(0.1)^{r \alpha - 1} = \left(\frac{1}{10}\right)^{r \alpha - 1} \quad \left(\frac{r}{\omega}\right)^{r \alpha - 1} = \left(\frac{\omega}{r}\right)^{r \alpha - 1} \rightarrow \left(\frac{r}{\omega}\right)^{r \alpha - 1} = \left(\frac{r}{\omega}\right)^{-r \alpha - 1}$$

$$-r \alpha - 1 = r \alpha - 1 \quad -r \alpha - 1 + r \alpha - 1 = 0 \quad \alpha + r \alpha - 3 = 0 \quad (\alpha + r)(\alpha - 1) = 0$$

$$\alpha = -1 \rightarrow \log_{\frac{1}{\lambda}}^1 X$$

$$\log_{\frac{1}{r}}^r = \log_{\frac{r}{r}}^r = \frac{r}{r} \log_{\frac{r}{r}}^r = \boxed{\frac{r}{r}}$$

8

$$\log_{\frac{r}{r}}^r = a \quad \log_{\frac{r}{r}}^b = \frac{r}{r} (1 + a) \rightarrow \frac{1}{r} \log_{\frac{r}{r}}^b = \frac{r}{r} (1 + \log_{\frac{r}{r}}^r) \rightarrow$$

$$\log_{\frac{r}{r}}^b = r \log_{\frac{r}{r}}^r = \log_{\frac{r}{r}}^{r r} \quad b = r r \quad \log(r b - 1) \Rightarrow \log_{10}^{100} = \boxed{2}$$

9

$$\frac{1}{s} = \log f \quad \frac{1}{\frac{b}{ra}} \rightarrow \frac{ra}{b} = \log f \rightarrow \frac{b}{a} = \frac{r}{\log f}$$

$$r b = a + c \quad c = r b - a$$

$$\left(\frac{1}{\sqrt{r}}\right) \frac{c}{a} \rightarrow \frac{r b - a}{a} = r - \frac{b}{a} = r - \frac{r}{\log f}$$

$$\frac{1}{r \sqrt{r}} \rightarrow r - \frac{1}{r}$$

$$\left. \begin{aligned} & \frac{1}{r \sqrt{r}} \rightarrow r - \frac{1}{r} \\ & \frac{1}{r \sqrt{r}} \rightarrow r - \frac{1}{r} \end{aligned} \right\} r - \frac{1}{r} \left(r - \frac{r}{\log f} \right)$$

10